y:
5x

oju




2
X

olt.

o
+
~

[

|
o
o
=
[H
rr

~D

£ (2,1)= AvH AL, 3 AFRAES AU gl o




T

o

=

o

-

BiE;

o .
DY
‘mﬂ OM
=
Phy X
,mﬂ N
B M
N
R
ﬂmo ~
—
.Om dnL
SR
~
NooR
o &
QU
o)
B owr
o B

x O] 4Hj7} B o)t
@ ®E¥e] do)7t xem, =017t yem €

® y=

9] yo]&= 15cm?

47

1

<
I
Rl= 3
Il Il
ENEN
@ ©




&2y = 2x + aof| t5to] f(%)

L) =bL E . a+b]

f(1>:2><1+a:_1

5 2
a2
y=2x-2
f(2)=2x2-2=b
bh=2

La+b=0




x| FHol 1, 2, 3, 4011,y ko] 1,2, 3,4,5,6,7, 82 o, y7t x
o] 47t Bl A7

2

=2 1 == -9
@y:—x @y:—
3 X

~&B ,

@ x=4Q ) y=9, F47} ohict,
@x=3wy="2, F47k o
@ =19 y= 3, @57} opic
© =39 y=, @7} opic




tod o

5

@)12 ® 14 @ 16 ® 18

D 10

B(3,-2), C(-3,-2)

A
x |||||
||||||||| " Mo
gl 3
_|A_A> L 3_ bt
N m
T r|||_ [
] | R
I— ¢ -+ - \§ =)
1
1

L NO —
Y 1 [
i ; e (e i
l=5=5 =7 T
R B [
L i 0T
=4 P\_\\wn,..m"\ (S
AT T .

LI T N O I

— =12
:6x4x2

(AABC ] Ho] )




y=ax® 2fm7 o5 TAT 2E W, b-a] 22

yl\
y=az
|___b 4
-2 0 Tz
B, | R S
1 3 5
@5 @1 @5 @2 5
1 —
S diYstd b =10t}




ohe 192 y 7F x of] §helEshs Tefjaro]
o, A=

,A(=2, 3), B(4, m) 2 ™, m °] g2?
3
@® -1 @—5 ® -2
5
@—5 ® -3

y="2 A A(-2, 3) & AEZ 3= = oA a= 6 oIk

6

m=——

4

Soom=—

2
2




ohe TRNA Gy = ax, Oy = 2 H& o, ab ] L7

yl\ @

i
[

VH

—_]-—-———

O
&
S
e
@

OJI[\D
®

| w
@

(1,3) 2 y = axol JQ¥3HH a = 30]t}.

(128 y= 2ol skl b = ~2°]ck

S.ab = -6




& A5 gk xL

o, yE xofl et Aoz yehyH?

o)

@ y=5x ® y=7x

® y=3x

@ y=12x

@ y=11x

‘ I1LE 12kmE Z 4 0 B=E y = 12x0|t}.




